Forelesning, 15. mars 2021

mandag 15. mars 2021 14:18

2018 3 v{:(’%\ wf(l\ W:ﬁ
t N 2
2 1\ _[Rx*Y ,.'_a,(___z,-
%'@dt s (S)J (1333) ) &2\ o

SCH(., A= ‘% thn 1 1% 3. wd:
2(_%\_\-%:2 \5

TEE)y=2
.J-[-l-%\dzé =2 3y=16 ga‘;%
~N oy =L D fy=26
— 10
= Y= 3 ge w=-FZV+SVs
Aoty A
q. {oYy I
Q: ??9:?\ Ax_s O, Hx'i\o ,Tﬂp?—t‘}"";dx}l*_
b G20 A O TN\ g0 /10 -0
4>«(6 H) LN bzi‘\zﬁiﬂizl ot
[ A -\ e 3-5) 4 2" oo
=0
5 B gheo

( % L,Q Gvee *lw'ame)nj\@ w{\\«“r-ix



> Q%QV\V?}M% D, L

QL 4- (_{ b*) ctef(-\ i, = A2 oA +15-1

3 el = N-loM Q=0
= mf"ﬁ abe = \= 16 L“M—q": fotl
eéwle 2 2_4 z

A6 -
S EE)6)
( >(3 ( )OWE G\’ (j‘x")c x(i)

1’5%15-2{1 éi{i_ ) tiﬁg
O O ali+h i o o a&

X+ By =3
~U.. - -6 Avue ~n=¢



19 v NnNvVo U O
( O = a-%) =
2. A
-\@ﬁ\ S,( ngzi’xig
h L AL
:S g‘rlcosQé vsmb + 46 dr
X=\rcos6é 6 5
W=1r Sur 2 Car 9_
Osre L = S rg(wsﬁ-sw&) d6 -
0¢6e 207;-0 35w i6
= S 'f‘sz,l sm>6 db dr
Q o
Cos(108) ~2 zl 5 - cos(¥8)
2 'S q" dh dr
= (o$ @6)—5\;«7'(.‘26) 60 o 2
> 1o g - 9500 =4 § g"s@’cos(?é))déﬂt"
= 4= Jsw(26) 4 0o T
= sz@é) - 116‘—*;(%) = —‘égol'g[e~—sm(ﬁf§j dr
- S'jzgorg@’-a -6 +0) dr
- & 12'_9\&
5 % .
L
=T [Erl %o

(s . /7 - .



X = Vo5 (F3)
=Tsnd Tor 4
1< oo = (Fapdb
0¢ 6 € 212 )
)(1*(01.:‘_2 _ - b
gofﬂrq, A0
“QK «-.E,QJL ) d&
o
—_ 2 ~A ITr
= ~ 7 b -1 > L
O

Vi Fb)- (?) iy n‘le“%)
G FE=(bt, 4 t¥) al)=(e,4e)

———

9. =
r(?):(;‘;j'i) Liexarsems m

ﬁ>(§):(i§ c);()




S ()t S
:(3\ (x-Hs-\\ G <X+‘3) ( >

G

’ -7(1\ o><ﬂ oy 3. oosdead e Gl 7
A
./ 1/ 0 /e b;v\eo.r;’émb"’\"ﬂ”“"”
-
© (4]
-2
q‘ A L 51 (Ax:o har b
< L’ /G 2% le$VU'A\9 x"-'é
~2 T | ~f 5?{\135625\%

—  fix=0 har kun X<o sm
5w




‘G (\)(1—%) 2)‘/
= NP gA+T +5 = N-BMIS =
a,\)c-«gmfk: '\ gil‘f—gb %*25

D

E(X\(ﬁ\z) = (%Z Cf’s&ﬂ)/ Xz Q%(xﬂ) ) SW‘O‘DB

3

P T. 3

a); 4'§ b—‘
(" sz S

2- 0oy
Stdz cos(x:p&x :bjz—nguf\G(g) + h(b,z)
Kanddat  Hew) = 2-0n @) + "y2)
22 - 2.8yt 9g = X2 -(05 Iy)

Oy ~
= %30 dvs W)

Kandided @ l6y2) = 2. 5wb) + h()

%‘2 = SWEY () = snky)

3 Ve-o oWl

C?(Xﬂdnz)c J- Syt &



— g .E-u,?% +3¢ dt

[é-(- %+3tz

-(—%1—%:2@
8 E(M) Bed oo 2 okl

) 'aﬁc% = -‘: \ansie,«r«r\%&\ /\)&

L S &Fdr-0 N
sl &C Faf-0 N

9 A — . 1 4
f\‘h(’ e akl\-SAMna«)'\&?.ﬂ( > o 1\1!44’ hanons ‘,-N‘]- A‘)&

N A (aQ b? S hte A 2 E=X

) Cn‘%\‘\&ﬂmmmhﬂ»s a& 224 33 ? F ?

= 11 . r‘l—\—{



. New L=
9 x>« 3L4,§‘l)\—‘{b+ N=0
U Mx + ﬂz'q_'g = Y
H(x+ by +Q) " (“,:‘L}S'l- “t) = -1+3t *‘7‘\
4+ (0> = 16 |1
(x—~3)’+ B-2)* _ A

—

2% Kk
Ellfpga ™ol Sey\‘kum ) (—-?).l) ) haiuqhszr 9\/ Lf

1o b >0 A=A

ke (fsi: o}

(—m
I ((5 ;) @

To susle  Ne:



@ frg i:qt * dedy

X =¥ Cos © g gv + de 4
h=vsnbd

6¢Pea rodr = 2n-Lbe T
0<¢7 s | B '?(“V S ' T2
><2+l¢l-r"

I3 SS K«lﬁ )e -\-;3:(%%

?o\a;koor&»\a&u g S - 8 - o dé

O<yr<¢h— w ok

\
5. 7 0@
Fé 9) ~(‘j+8ln(><z) ~5x~ 05 (y")
C: (x-3)"%(y-3)"= { > 20 _ ~ oP_






